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#include <stdio.h>
#include <stdlib.h>

main(void) {

int n, m, idx = O;
scanf("%d %d", &n, &m);
char inputln + m + 1];

S
ut[nl));

printf(“"%s\n", input);
printf(“%c”, inputlrand() % (n + m)1);
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int main(void) {

IREIRINCnt =20

scanf("%d", &n);

for(int 1 = 1: 1 <= n; i++)
{

if(is_prime(i) == 1)
{
cnt++;
sum += 1;
}
printf("%d\n%d\n",

return O;

cnt, sum);

is_prime(int number) {
int isPrime = 1;

if (number == 1)
isPrime = 0;
else if (number <= 3)
isPrime = 1;
else
{
for (Rt =201
{
if (number % 1
{

isPrime = 0;

break;

return isPrime;

<= number /

0]
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i++)
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#include <stdio.h>
#include <stdlib.h>

int main(void)

int n, m:

scanf("%d %d", &n,
char strin + 11;

scanf("%s", str):

for(int 1 = 8; 1 < m; i++)
{

printf("%s\n", &(strlrand() % nl));

}

return 0:




#include <stdio.h> #include <stdio.h>

void str_len(void)
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printf("%d\n",

return i;
break;

t main(void) {
int n
char str[11]1;

scanf("%d", &n);
Sl for (int i = 0; 1 < n; i++)
scanf("%d", &n);

’N_len(str)):

str_lenQ); e
return 0;

return 0;
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<stdio.h>
e <stdlib.h>

int main(void) {
IpEinsent =10
scanf("%d"
char 1

or(int 1 = B; 1 < n; 1++)

t[i] = rand() % 128;

if (n > 0 && input
CNEtEE:

printf("%d", cnt);

#include <stdio.h>
#include <stdlib.h>

int main(void) {
int n, cnt = 0, input

scanf(“%d", &n);

forCint it ="108: i <n:
{
input = rano()
if (input ==
cnt++;
}

if (input != '\0")
Cntrt:

printf("%d", cnt);

return 0;

i++)

s 128;
)
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de <stdio.h>

nt getResult(int m)

int ret

while(ret <= m)
{

ret *= 2:
}

return ret / 2;

scanf("%d", &n);

for(int 1 = 0; 1 <

{
scanf("%d"

n; i ++)

, &m) ;

printf(“%d\n", getResult(m));
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int main(void) { int is_prime(int number) {

int n, cnt = 0, ; int isPrime = 1;

scanf("%d", &n); 1t (ggggige:: é? : ICH! (+20)
for(int i = 1; i <= n; i++) A B LI S ' S
{ ’ ' isPrime = 1;

if(is_prime(i) == 1)
{ forNGintiar=R2: 15

CHtEE= {

SUIES = if (number % i == 0)
{
} isPrime = 0:
) break;
printf("%d\n%d\n", cnt, sum);

return isPrime;
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&n) ;

scanf("%d",
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cnt: 1

cnt: 2

3 is prime

cnt) ;
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cnt:

%d is prime,

printf("%

5 1S prime
7 is prime

cnt: 5

, cnt, sum);

%d\n"

printf(“%d\n

2EEIASLICH */

0l




int is_prime(int number) {
int isPrime = 1;

if (number == 1)
isPrime = 0;
if (number <
Prime = 1;

r (int i = 2; 1 < number / 2; i++)
1f(number == 4)

{
printf("i: %d, number: %d, %%

i, number, i % number);

}
1f (number % 1 == 0)
{

isPrime = 0;
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1. printf 2 rand() 22+5 23 of & &+ UG LICL

105 115 81 58 43 114 123 99
103 13 118 73 26 102 50 13
5 23 88 77 70 27 52 84
02112 124 163 62 1 126
92 42 108 60 84 108 24 91
123 124 20 117 88 62

49 119 0 165 33 58 101

31 160 69 20 115 90 69

17 44 114 27 16 47 59

59 125 117 11 97 26 28
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printf - MA 2|4 A}

printf &0 MAZ|ZAL A4 “% [SeiA][F] [ ZBE][Z0]]AZAF

Gl Al: “%06I1d” -> “%[0][6][I[lIld”, “%08.4f -> “[0][8][.4][]f"

s
M
>

Z0]: data type2| Z0|Z A4 (h: short, |: long)

#include <stdio.h>
1nt main(void)

g int a
6.136:

'%0611d\n", a);
printf("%08.4f\n", b);
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« sin(), cos(), tan() -
s A /2 e
- exp(), log(), log10() -
HFE20|E2{2| 2MO0|M T ZtMet ES=

C
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printf(“%f\n",
printf("%f\n",

<stdio.h>
<math.h>

#define PI 3.14159265
int main Q)

&
double param = 30;

pow(a, b));

sqrt(a));

printf ("%.2f\n", sin(param * PI /

return 0;

}

/* AE &

/* RSt S8ElE SLICH... */
64.000000
2.000000

/* I 80l ASTIASLICH */
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int getShiftNum(int key)
char c; {
int shift, i : int shift = 0;
C;
nt key, i = 0, shift = @; tchar©) != "\n") while(key > 0)
{
while((c getchar()) != '\ o shift += key % 2;
{ key /= 2;
if (1 }

return shift;
}

while(key > 0)

{ void printEncryptedChar(char ¢, int shift)

{
G =€ = shiff;
if (c < 'A")
C =)z

shift += key % 2;

putchar(c);
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e n!=(n)x(n-1) x(n-2)...x (1

scanf("%d" ,&n) ;

for(int 1 =n; i > 0; i--)
{

result = result * 1i;
}

printf("%d\n", result);

return 0; printf("%d\n", factorial(n));

return 0O;
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return n;
f(0) = else
f(1) = return fibonacci(n-1) + fibonacci(n-2);
f(n )_f(n 1) + f(n-2) (forn >=2)
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int n;

scanf("%d", &n);

printf("%d", fibonacci(n));

return 0;
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